Borough Council of King's Lynn & West Norfolk

<u>Cabinet</u> Tuesday, 4th February, 2025 at 6.00 pm in the Council Chamber, Town Hall, Saturday Market Place, King's Lynn PE30 5DQ

Reports marked to follow on the Agenda and/or Supplementary Documents

1. MATTERS REFERRED TO CABINET FROM OTHER BODIES (Pages 2 - 4)

- Recommendations from the Corporate Performance Panel Independent Review of Members Allowances
- Financial Implications of the Corporate Performance Panel's recommendations for Cabinet's consideration.

Contact Democratic Services Borough Council of King's Lynn and West Norfolk King's Court Chapel Street King's Lynn Norfolk PE30 1EX Tel: 01553 616394 Email: democratic.services@west-norfolk.gov.uk

Agenda Item 9

RECOMMENDATIONS TO CABINET 4 FEBRUARY 2025 FROM THE CORPORATE PERFORMANCE PANEL MEETING ON 28 JANUARY 2025

CP105: CABINET REPORT – INDEPENDENT REVIEW OF MEMBERS ALLOWANCES

Click here to view the recording of this item on You Tube.

The Assistant Director presented the recommendations of the Independent Remuneration Panel (IRP) and the covering Cabinet report which included recommendations to be considered by the Panel.

The Deputy Leader, Councillor Ring highlighted section 2.1 to 2.6 Cabinet Report which set out recommendations on amendments to the IRP Report. He explained that the IRP had recommended a 20% public service discount and commented that many Councillors were unaware of this and the Cabinet recommendation was to reduce this discount to 5%. It was also recommended that the ICT allowance and the larger opposition leader and deputy allowances be retailed.

The Chair thanked the Assistant Director and Portfolio Holder for the report and invited questions and comments from the Panel, as summarised below.

Councillor Kunes addressed the Panel under Standing Order 34 stating that prior to becoming a Councillor he was a Member of the IRP and provided information on the public service discount.

The Chair requested that the Panel consider the recommendations as included in the Cabinet Report. Following comments from Members of the Panel, the Chair, expressed concern that the papers had been published late.

Councillor Spikings commented that being a Councillor shouldn't be about the money and stated that she had held many positions concurrently, but only received on Special Responsibility Allowances, and she accepted that. Councillor Spikings commented that the public service discount of 20% was too high, especially when Councillors worked so many hours voluntarily and did not receive benefits such as a pension.

Councillor Sandell commented that she was unaware that a public service discount was applied to allowances and did not agree with this due to the amount of work she carried out.

The Deputy Leader clarified that it was advisory guidance that recommended deduction of a public service discount and some Councils had chosen not to have a discount at all. The Portfolio Holder requested the Panel consider making a recommendation to Cabinet on the level of public service discount they felt was appropriate, noting that the IRP had estimated that Councillors duties equated to approximately twelve hours per week.

The Monitoring Officer read out the guidance on public service discount which included ensuring that Councillors were not at a financial loss and the allowances encouraged people to stand for election.

Councillor Osborne commented that he agreed with the IRP recommendation of 20% public service discount and proposed that this be recommended to Cabinet. Councillor Jones seconded the proposal and after being put to the vote the proposal was lost.

The Panel then debated the Cabinet recommendation that a 5% public service discount be applied.

Councillor Sayers asked if some allowances could have a 5% deduction and the basic allowance have a 10% deduction, with additional funds being added to the Councillors Community Grant Scheme. Councillor Sandell commented that the Councillor Community Grants fund was often underspent. Councillor Spikings suggested that each Councillor could be asked what level of public service discount they wished to deduct from their allowances. The Panel felt that staggering deductions would be too complicated to administer and needed a flat rate across all allowances.

The Portfolio Holder for Finance commented that the schedule of allowances should be simple to administer and noted that any Councillors who wished to forfeit their allowances, or a portion of their allowances could do so by notifying the Council. Councillor Morley also drew attention to the Carers Allowance which was included to encourage people to stand for election.

Councillor Sandell referred to the workload of Councillors and felt that those that were less active should be paid less, but acknowledged that this would be difficult to administer with Councillors having to fill in time sheets etc. The Chair also commented that, with being such a large Borough, travel time would also have to be a consideration. Councillor Sayers also commented that for dual-hatters it would be difficult to differentiate between Borough and County duties.

Councillor Spikings made reference to dual Member Wards and large Wards with lots of Parishes, which involved a lot of additional work, noting that Borough Councillors did not get paid for attending Parish Council Meetings. Councillor Kunes stated that it was his understanding that attendance at Parish Council meetings were not a requirement for Borough Councillors.

The Chair asked the Panel to consider if they would like to make a recommendation to Cabinet that Borough Councillors should be paid mileage for attending Parish Council meetings.

Councillor Bhondi commented that he did not agree with the public service discount of 20% and some Councillors chose not to claim mileage.

Councillor Sandell proposed that the Panel recommend that the public service discount be set at 0%. The proposal was seconded by Councillor Rose and after being put to the vote this additional recommendation was carried.

RESOLVED: That the Corporate Performance Panel support the recommendations to Cabinet, as set out below with and additional recommendation that a public service discount of 0% be applied.

- 1. The content and recommendations of the report of the Independent Remuneration Panel dated November 2025 are noted.
- 2. The Members Allowances for 2025-2026 set out in Table 3 of the report are approved, subject to a 0% public service discount being applied.
- 3. The Members' Allowances Scheme 2025-2029 attached as Appendix 2 is approved to come into effect on 1 April 2025 for a period of four years, subject to being updated with the members Allowances approved at recommendation 2 above.
- 4. Following the 2025-26 year, indexation is applied to Members Allowances for 3 years in line with the percentage increase to the national joint council for local government pay services pay grades spinal column point 43.
- 5. The Chief Finance Officer is delegated to approve non-material revisions to the Members' Allowances Scheme, including the levels of allowances to reflect the current figures after indexation has been applied.

<u>Table of Allowances based on 0% Public Service Discount – as per recommendation</u> <u>from CPP.</u>

The below table sets out the financial implications of the CPP recommendation to Cabinet that a 0% Public Service Discount be applied to Members Allowances.

Allowances based on IRP Recommendations including Public Service Discount of 0% Plus alternative changes to be considered	No Clirs	Gross Amount	Total Cost
Basic Allowance	55	9,853	541,913
ICT Allowance	55	218	11,982
Cabinet Chair/ Leader of Council	1	29,559	29,559
Cabinet Vice Chair/ Deputy Leader	1	16,257	16,257
Cabinet Member	6	13,301	79,809
Policy and Review Panel Chair	4	5,912	23,647
Policy and Review Panel Vice Chair	4	2,069	8,276
Planning Chair	1	11,824	11,824
Planning Vice Chair	1	4,138	4,138
Licensing Chair	2	4,434	8,868
Licensing Vice Chair	2	1,995	3,990
Standards Chair	1	1,478	1,478
Standards Vice Chair	1	517	517
Standards Independent Co-optee	1	273	273
Mayor	1	10,346	10,346
Deputy Mayor	1	3,621	3,621
Larger Opposition Group Leader*	1	3,003	3,003
Larger Opposition Group Deputy Leader	1	1,351	1,351
Other Opposition Group Leader**	1	1,287	1,287
Other Opposition Group Deputy Leader	1	579	579
KL Area CC Chair	1	985	985
*based on £143 per member @ 21 members (minimum 6 members) **based on £143 per member @ 9 members (minimum 6	-	TOTAL	763,704

**based on £143 per member @ 9 members (minimum 6 members)